p .----%_..-' = 5 ‘_ — ™y r ‘!. r‘ -d_" . N . & S
AL /A AR NWNTJRVIAL IR U

Powering the Future

CLY 770 0000

Tetnetl

OHL Road Crossing Safety Net Trailer
llustrated Parts List

Clydesdale Ltd.

Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 1 of 8 Fax: +44 (0)1234 855800
Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09



Powering the Future

ITEM NO. DESCRIPTION SEE PAGE NO.

1 SLAVE FRAME ASSEMBLY 3

CHASSIS ASSEMBLY, MAST AND CROSS
MEMBERS

MAST ASSEMBLY
NETTING REEL ASSEMBLY
RUNNING GEAR AND ELECTRICS

2
3
4
d

N oo &~

Clydesdale Ltd.

Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 2 of 8 Fax: +44 (0)1234 855800
Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09



CLYDESDALE

Powering the Future

ITEM NO. | PART NUMBER DESCRIPTION QTY

300 ZZ 105 03A 50MM RATCHET MECHANISM 2

301 ZZ10545.8 LYNCH PIN 45 X 8MM 2

302 ZZ 105 462066 M10 PLASTIC KNOB 2

303 ZZ 3155210 JOCKEY CLAMP 48MM PRESSED 4

304 ZZ 770 0001 3 X4 IN NYLON GUIDE 2

305 ZZ 770 0004 OUTRIGGER ARM 2

306 ZZ 770 0006 OUTRIGGER FLAPPER CATCH 2

307 ZZ 770 0007 25 X 200MM MAST PIN 2

308 ZZ 7701001 SLAVE FRAME 1

309 ZZ 7701005 STABILISER LEG 4

310 ZZ 770 6000 MAST ASSEMBLEY 1
Clydesdale Ltd.
Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 3 of 8 Fax: +44 (0)1234 855800
Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09



Clydesdale Ltd.

Walter Sample House, 3 Sunbeam Rd,
Woburn Rd Ind Est., Kempston,
Bedfordshire, MK42 7BZ

United Kingdom

CLYDESDALE

Powering the Future

ITEMNO. | PART NUMBER DESCRIPTION QTY

400 ZZ 7704001 NETTING SUPPORT 2

401 ZZ 770 4002 NET LEAD IN 4

402 ZZ 770 6000 MAST ASSEMBLEY 1

ITEM NO. | PART NUMBER DESCRIPTION QTY

410 Z710545.8 LYNCH PIN 45 X 8MM 2
411 ZZ 105 462066 M10 PLASTIC KNOB 2
412 Z7 3109002 NUMBER PLATE SPRING CLIP PAIR| 1
413 Z7Z 3155210 JOCKEY CLAMP 48MM PRESSED 4
414 Z7 3259005 MEDIUM SHOOT BOLT 2
415 ZZ 770 0001 3 X4 IN NYLON GUIDE 2
416 ZZ 770 0003 NYLON CUSHION PAD 4
417 ZZ 770 0004 OUTRIGGER ARM 2
418 ZZ 770 0005 MUDGUARD 2
419 ZZ 770 0006 OUTRIGGER FLAPPER CATCH 2
420 ZZ 770 0007 25 X 200MM MAST PIN 2
421 ZZ 770 2001 CHASSIS 1
422 ZZ 770 2003 STABILISER LEG 4
423 ZZ 770 2004 CHASSIS DECK PLATE 1
424 ZZ 770 3000 TOOLBOX 2

Page 4 of 8

Tel: +44 (0)1234 855855
Fax: +44 (0)1234 855800
Email: sales@clydesdale.net
www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09




Powering the Future

ITEMNO. | PART NUMBER DESCRIPTION QTY

500 ZZ 770 6001 MAST BOTTOM SECTION 1

501 ZZ 770 6002 MAST MID SECTION 1

502 ZZ 7706003 MAST TOP SECTION 1

503 ZZ 310 9004 HAND WINCH 500KG 1

504 ZZ 770 6004 MAST PULLEY 2

505 ZZ 770 0001 3 X4 IN NYLON GUIDE 2

506 ZZ 770 0002 2 X3 INCH NYLON U GUIDE 2

507 ZZ 770 6005 TOP SECTION WIRE ROPE 1

508 ZZ 770 6006 BOTTOM SECTION WIRE ROPE 1
Clydesdale Ltd.
Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 5 of 8 Fax: +44 (0)1234 855800
Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09



CLYDESDALE

Powering the Future

ITEM NO. | PART NUMBER DESCRIPTION QTY

600 ZZ 770 5001 BEARING SUPPORT 2

601 ZZ 7705002 NETTING REEL 1

602 ZZ 140 025 BEARING UNIT PRESSED STEEL FLANGE 1IN SHAFT 2

603 ZZ 770 5003. 2M NET 1
Clydesdale Ltd.
Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 7 of 8 Fax: +44 (0)1234 855800
Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09



CLYDESDALE

Powering the Future

DETAIL B DETAIL E DETAIL F
DETAIL A SCALE 3: 13 DETAIL C SCALE 3:13 SCALE 3: 13
ITEM NO.| PART NUMBER DESCRIPTION QTY

700 | ZZ 320 8204 FRONT MARKER LAMP 2

701 | ZZ 320 8401 JUNCTION BOX 8 WAY 1

702 | ZZ 325 8903 6FT LIGHTBOARD 1

703 | ZZ300 2410 COUPLING 450-900KG WITH 40MM EYE 1

704 | ZZ 3109002 NUMBER PLATE SPRING CLIP PAIR 1

705 | ZZ 300 6002 600KG VOYAGER AXLE 1

706 | 223307010 WHEEL & TYRE ASSY 235.75R15 5XM14X140 PCD 2

707 | ZZ 320 8402 7-PIN PLUG 1

708 | ZZ 333 8601 CONDUIT CLIP 2

709 | ZZ 333 8604 ADAPTAFLEX CONDUIT M20 1

710 | ZZ300 1001 1061 BRAKE BALANCE BAR & WASHERS 1

711 | 227700008 M10 x 2150MM BRAKE COUPLING ROD 1

M2 | 223151113 BRAKE CABLE 3MM DIA. 930MM LENGTH 1
Clydesdale Ltd.
Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 6 of 8 Fax: +44 (0)1234 855800
Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net

DS CLY 770 0000 REVO CFB 08/12/09



CLYDESDALE

Powering the Future

CLYDESDALE Ltd. Specialist manufacturer and
supplier of overhead line and underground cable
installation equipment, associated tools and
personal protective equipment (PPE).

www.clydesdale.net

Clydesdale Ltd
Walter Sample House
3 Sunbeam Rd
Woburn Rd Industrial Estate

Kempston
Bedfordshire MK42 7BZ

Tel: (0044) (0) 1234 855855
Fax: (0044) (0) 1234 855800

Clydesdale Ltd.
Walter Sample House, 3 Sunbeam Rd, Tel: +44 (0)1234 855855
Woburn Rd Ind Est., Kempston, Page 8 of 8 Fax: +44 (0)1234 855800

Bedfordshire, MK42 7BZ Email: sales@clydesdale.net
United Kingdom www.clydesdale.net
DS CLY 770 0000 REVO CFB 08/12/09



	1
	Drawing View1

	2
	Drawing View2

	3
	Drawing View4

	4
	Drawing View5
	Drawing View6

	5
	Drawing View7

	6
	Drawing View17

	7
	Drawing View8
	Detail View A (3 : 13)
	Detail View C (3 : 13)
	Detail View F (3 : 13)
	Detail View D (3 : 13)
	Detail View E (3 : 13)
	Detail View B (3 : 13)

	8

